INFINITY DOCK SYSTEMS

Infinity Dock System

Corner

Instructions

Part #: 1005990 - RS4 Corner
1005991 - RS7 Corner
1005994 - TS9 Corner

Parts List
ITEM| QTY | PART NUMBER DESCRIPTION

1 11004427 Bolt Bag
1 4 (1001802 Nut Flange 3/8
2 4 11001803 NUT 3/8
3 4 (1004651 Connector Clip
4 4 [1001956 Bolt Carriage 3/8 X 1.0
5 4 11026428 T Handle .375

CORNER SECTION y
Q%X DOCK SECTION
Assembly

To prevent serious personal injury, death, or voiding the warranty, read warnings and instructions in the
dock assembly instructions before attempting assembly or installation.

Place one 3/8 nut in each Connector Clip nut holder and thread the 2-1/2 - 3/8 x 1-1/4 T-Handle through it
just enough so that it does not fall out.

Attach two Connector Clips to each dock frame that will be supporting the Corner Frame. Place two 3/8 x
1.0 carriage bolts into the bottom slot of the dock on each side. Secure the connector clips to the dock
using the carriage bolts and one 3/8 flange nut in each place - as shown.

Place the Corner Frame into the Connector Clips and tighten each 2-1/2 - 3/8 x 1-1/4 T-Handle against the
Corner Frame until it is secure against the supporting dock frames.

Place Corner Panel in frame.

Il SHOREMASTER.COM



